End of Key Stage One Assessments 2015

The average attainment for a child of this age is considered to be Level 2. Therefore a child
who attains Level 3 has attainment higher than the average. A child who has attained Level
1 is considered to be below average. If a child does not attain Level 1 this is signified by 'W,'
which denotes 'working towards Level 1'. Children working at Level ‘W’ are assessed against
P scales which are not shown below.

Teacher assessment 2013 at Market Rasen CE Primary School KS1

Percentage at each level
W|1]|2|2C|2B|2A 3or Disapplied Absent
above Children children

Speaking 0 | 15|51 34 0 0
&Listening
Reading 0| 6 6 |15 | 38 34 0 0
Writing 0|9 13|28 | 28 23 0 0
Mathematics 0| 6 4 |19 40 30 0 0
Science 0 (11|60 30 0

Figures may not total 100 per cent because of rounding.

What does this mean?

In Speaking and listening 85 % of the group were at the expected level.
In speaking and listening 34% of the group were above the expected level.

In reading 94% of the group were at the expected level.
In reading 34% of the group were above the expected level.

In writing 91% of the group were at the expected level.
In writing 23% of the group were above the expected level.

In maths 94% of the group were at the expected level.
In maths 30% of the group were above the expected level.

In Science 89% of the group were at the expected level.
In Science 30% of the group were above the expected level.




